24 Screw on hand tight

1_Torque 20 - 25 in.-lbs.

6 Lube with light oil or soap
prior to installation

3 Torque
) |7 45-&5 1
in.-Ibs.
Torqui\ .
96-120

in-lbs.
B |
Torque 1
96-120 /
in-lb s 18 i
-0 'S, Y = 5 Torque 45 - 55 in.-Ibs.

Torque
96-120 1
in-lbs.

> 4R
16
7 44
4 41 36 1 4 Torque 96-120 in.-Ibs.

45 Place on each side of fuel valve

3
Torque 96 - 120 in.-lbs. Torque 96 -120in.-Ibs.



106;91rgue 102 ;orque 108 Torque

-10
in - o 2-10
/ in.-Ibs. in. Ib;/ ‘n-Ibs.

=
= &= =
@@@
= =—"9
A J/







Item Number

O 0 9 N B~ W N~

AW W NN NN N N e e e e e e e e
—_— = O NN N RN = O O 0N R W N~ O O

Part Number

91895680
SSN-632
GS-0208
000000-00
Z-GS-0795
D24273
Z-D26605
GS-0118
SSF-605
SSF-605
000000-00
SSN-1619-ZN
GS-0222
GS-0117
GS-0033
SSF-549
SSF-553-1
GS-0077
GS-0456
GS-0227
GS-0446
GS-0443
GS-0199
000000-00
SSF-8150
Z-A14582
SSN-1014-ZN

COPYRIGHT®© 2005. All Rights Reserved.

Parts list, pricing, and availability subject to change. Please visit www.dewaltservigenet.conr for current parts information.

PartsList for BSV550-W TypeO

Description

SCREW .250-20X.750 H
WASHER .875 OD .375
COVER ENGINE 9H VAN
No Longer Available
TANK FUEL 7G SS
SHIELD HEAT BSV GHC
ASSY GEN 3.255 120/2
STRAP GROUND
SCREW .313-18X1.25H
SCREW .313-18X1.25H
No Longer Available

WASHER LOCK EXTERNAL

VALVE FUEL SHUT-OFF
LUG GROUND
ISOLATOR VIBRATION 1
SCREW .313-18X.50 HE
SCREW #10-24X.563 TH
COVER END BLANK
DRAIN COCK GBVS5000
CLAMP FUEL .50
GROMMET DRAIN COCK
CAP FUEL TANK
BUSHING SNAP 1 OD

No Longer Available

NUT .312-18 UNC HEX
HOSE FUEL

WASHER .339/.344 ID

Page 1

Qty Required

—t e e e e e e e e e e ek ek e e e e e ek e e ek e ek e e e


http://www.dewaltservicenet.com

Item Number

42
42

43

44

45

48

101
102
103
104
105
105
106
107
108
109
201
202
203
204
205
206
207
208
209
210
211

Part Number

000000-00
SSP-510
SS-12-CD
SSF-641-ZN
SSF-634
SSF-603
000000-00
SSF-583
SSF-584
Z-D20573
GS-0455
GS-0019
SSF-595
D25706
SSF-3156
GS-0605
D26842
D23067
A02777
SST-5314-1
A17036
Z-D26985
SSF-634
SSF-8150
D26863
SS-12-CD
D23574

COPYRIGHT®© 2005. All Rights Reserved.

Parts list, pricing, and availability subject to change. Please visit www.dewaltservigenet.conr for current parts information.

PartsList for BSV550-W TypeO

Description

No Longer Available

CLIP FUEL LINE TUBE
SCREW .313-18X.750 H
SCREW M6X1X12 HHW TH
SCREW .313-18X2.00 H
SCREW M8X1.25X20 SOC
No Longer Available

SCREW #6-32X.500 PAN
NUT #6-32 SPEED SELF
BREAKER CIRCUIT 125/
RECEPTACLE 4 PRONG 3
RECEPTACLE 120V 20A
NUT .438-28 UNEF HEX
COVER PANEL MINI W/C
SCREW #10-9X.500 THD
PANEL WIRE HARNESS G
TUBE HANDLE FHWK BLA
WHEEL PNEUMATIC 10IN
BRACKET FOOT

BUMPER RECESS RUBBER
GRIP HANDLE HORZ WB
ASSY BRKT HANDLE W/L
SCREW .313-18X2.00 H
NUT .312-18 UNC HEX
BUTTON SNAP .302 DIA
SCREW .313-18X.750 H
BOLT .375-16X3.40 UN

Page 2

Qty Required

N = N0 & NN = o= N N = = e e e e e e e e e e e e e


http://www.dewaltservicenet.com

PartsList for BSV550-W TypeO

[tem Number Part Number Description Qty Required
212 SSF-8111-ZN NUT .375-16 HEX WHIZ 2
213 91895680 SCREW .250-20X.750 H 1
214 SSF-575 NUT .250-20 HEX W/KE 1

COPYRIGHT®© 2005. All Rights Reserved.
Parts list, pricing, and availability subject to change. Please visit www.dewaltservicenet.com for current parts information.

Page 3


http://www.dewaltservicenet.com

